Virginia High School League Regional Competition, 2000-01 season

Match #8


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the Region level by Shawn Pickrell. These questions are to be used by individual Regions to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
The dangers of a party system were outlined. The nation was advised to steer clear of permanent alliances with foreign powers. Finally, the reasons for declining a third term were outlined. What famous political speech that was dated September 17, 1796, outlined the aforementioned points?

ANSWER: WASHINGTON’S FAREWELL address

2.
What Melville novel was left unfinished at his 1891 death and centers around a sailor that accidentally kills John Claggart, the master-at-arms, and is hanged for his offense?

ANSWER: BILLY BUDD, Foretopman

3.
THIS IS A COMPUTATION QUESTION. A club lets in 50 women for free to get the crowd going, lets in 200 women at $3 each and lets in 400 men at $5 each. Each customer buys on average $10 worth of drinks. How much did the club gross for the evening?

ANSWER: $9,100 (200 * 3 = $600, 400 * 5 = $2000, 10 * 650 = $6500, total of $9100)

First period (continued)

4.
This property of a chemical system is determined by the formula E + PV where E is the internal energy of the system, P is the pressure and V the volume. In a chemical reaction, if this property is greater for the products, then the reaction is endothermic. What is this chemical property?

ANSWER: ENTHALPY
5.
To what nymph did Hera say: “You shall still have the last word, but no power to speak first,” a nymph who was then spurned by Narcissus?

ANSWER: ECHO
6.
His sons, Happy and Biff, are not successful by any means. At the end of the play, Biff mocks his father’s belief in ‘a smile and a shoeshine,’ causing him to commit suicide. Who is this man, the main character in ‘Death of a Salesman?’

ANSWER: WILLY LOMAN
7.
Alfonso, Rodrigo and Cesare (chay-ZAR-ray) are the three best-known male members of what family from Valencia that strove to rule portions of Italy, and which also included Lucrezia (loo-KRAY-tsee-uh)
ANSWER: BORGIA (bor-JUH)

8.
A young man is on the right chatting with a girl. A girl on the left is smothering affection on her puppy. A man behind the girl on the left is sitting, alone. The men are all in sleeveless shirts, indicating that everyone is of the working class. This is a synopsis of the action in what Renoir painting?

ANSWER: The BOATING-PARTY LUNCH
9.
What name is given to a light produced in living plants and animals as a reaction to oxygen?

ANSWER: BIOLUMENESCENCE 

First period (continued)

10.
THIS IS A COMPUTATION QUESTION. A soccer player runs 20 feet ahead during a game, and then turns right and runs another 40 feet. He then runs back to his original spot going in a straight line this time. How many feet has he run?

ANSWER: 60 PLUS 20 SQUARE ROOTS OF FIVE feet (400 + 1600 = 2000, the square root of 2000 is 20 square roots of 5)

11.
THIS IS A COMPUTATION QUESTION. Bob has a ten-dollar bill. He wants to buy some candy bars which are 75 cents each, but owes Steve two dollars and his sister wants a drink which is $1.20. How many candy bars can he buy?

ANSWER: NINE ($3.20 of expenses leave $6.80 remaining. 9 * 75 cents = $6.75)

12.
Centrifugal force is the force that causes something in rotation to go away from the center of rotation. What is the force that causes something in rotation to go toward the center of rotation?

ANSWER: CENTRIPETAL force

13.
With what sport is the name Bobby Riggs associated?

ANSWER: (Men’s) TENNIS
14.
This disorder is a severe reaction to an event that involved actual or threatened death or serious injury to self or others, such as seeing a parent or loved one die. The sufferer will re-experience the event as a flashback, suffer nightmares, or experience intense distress at anniversaries. Frequently, the sufferer will act inappropriately, even recreating the trauma on other people. What is this disorder frequently used as a defense in criminal cases?

ANSWER: POST-TRAUMATIC STRESS disorder (accept syndrome for disorder)

15.
What nine-letter word, coming from the Greek for ‘new word’, is used to describe a new view or interpretation of a scripture, or a new word or expression?

ANSWER: NEOLOGISM
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What famous ‘Proviso’ stated that slavery would be forbidden in any territory acquired by the United States from Mexico?

ANSWER: WILMOT Proviso

1B.
An icosahedron contains how many equal and equilateral triangles?

ANSWER: TWENTY
2A.
Giovanni’s Room and Go Tell It On The Mountain are the most popular books by what author who combines homosexuality with race issues?

ANSWER: James BALDWIN
2B.
What is the British soap opera named for the area of London where the show is set?

ANSWER: EASTENDERS
3A.
What three-digit code is associated with the words ‘File Not Found’ when an incorrect URL is typed into a web browser?

ANSWER: 404
3B.
What is the neurotransmitter that is used to make adrenaline and causes growth hormone to be secreted from the front lobe of the pituitary gland?

ANSWER: DOPAMINE

4A.
Who is the current governor of California?

ANSWER: Gray DAVIS
4B.
Who was the cigar-maker that was named in 1887 as the first president of the American Federation of Labor?

ANSWER: Samuel GOMPERS
Second period (continued)

5A.
Elements in the nitrogen family have how many valence electrons?

ANSWER: FIVE
5B.
What three-word Latin phrase is used to mean an essential condition or element, an indispensable thing or an absolute prerequisite?

ANSWER: SINE QUA NON
6A.
Who was the first prime minister of India?

ANSWER: Jawaharlal NEHRU
6B.
THIS IS A COMPUTATION QUESTION. A forward in soccer can score one goal every 1.2 games. How many goals will he score in 210 games?

ANSWER: 175 goals (210 games / 1.2 = 175 goals)

7A.
What character willingly takes the place of Charles Darnay on the guillotine in the Dickens novel, A Tale of Two Cities?

ANSWER: SYDNEY CARTON (either is acceptable)

7B.
What German composer wrote the Wedding March, which accompanies most blushing brides to the altar?

ANSWER: Felix MENDELSSOHN
8A.
THIS IS A COMPUTATION QUESTION. A circle of 4 inches radius is divided into four equal pieces. What is the area of each piece in square inches?

ANSWER: 4PI square inches

8B.
What chemist determined the mass of an electron using the mass-to-charge ratio determined by J.J. Thomson and some charged oil drops?

ANSWER: Robert MILLIKEN
9A.
Who said that the life of ancient men was “nasty, brutish and short” in his treatise on government, Leviathan?

ANSWER: Thomas HOBBES

Second period (continued)

9B.
What adjective is given to describe evidence of the oral statements of a person other than the one testifying, evidence that is usually inadmissible in court?

ANSWER: HEARSAY
10A.
What term borrowed from a Japanese word is used to describe a very large tidal wave?

ANSWER: TSUNAMI
10B.
What Faulkner novel that begin while Addie is on her deathbed watching her son build her coffin?

ANSWER: AS I LAY DYING
Third period: 15 toss-ups

1.
Mary Lennox, a sickly and unpleasant orphan, is sent to England to live with a reclusive uncle and a spoiled cousin. The housekeeper turns Mary into a healthy delightful child, and while exploring the estate, discovers a garden that had been abandoned 10 years earlier after her aunt had died. What is this novel by Frances Hodgson Burnett?

ANSWER: The SECRET GARDEN
2.
Mount Mitchell in what state is the highest point in the US east of the Mississippi?

ANSWER: NORTH CAROLINA
3.
What organization elects the Pope?

ANSWER: COLLEGE OF CARDINALS or CARDINAL COLLEGE
4.
Damage nearly total. Large rock masses displaced. Lines of sight and level distorted; objects thrown into air. This is a description of an earthquake that is at what most severe level on the Modified Mercalli scale?

ANSWER: XII or TWELVE

5.
THIS IS A COMPUTATION QUESTION. A border of 1 inch thickness is painted inside a rectangle that is 12 inches by 7 inches. How many square inches in the rectangle are still not covered by paint?

ANSWER: 66 square inches (12 * 7 = 84, 11 * 6 = 66 – since the dimensions of the rectangle are reduced by 1” on all sides)

6.
THIS IS A COMPUTATION QUESTION. A mother works 20 hours a week getting $7 an hour after taxes. The father currently makes $12 an hour after taxes over 40 hours. The family’s bills total $730 a week. If the father were to switch jobs, how much per hour would he have to make over 40 hours of work?

ANSWER: (20 * 7 = $140, 12 * 40 = $480, total $620 now. $110 deficit / 40 hours is $2.75.)

7.
What is the name of the glands that produce oil on human skin?

ANSWER: SEBACEOUS glands

Third period (continued)

8.
What name is given to the orchestral ‘introduction’ to an opera, oratorio or play?

ANSWER: OVERTURE
9.
Around 2300 BC, this Mesopotamian ruler began conquering his neighbors. Eventually conquering all of Mesopotamia and Syria, his influence extended as far north as the Black Sea and as far west as the Mediterranean. Who is this Akkadian ruler whose empire lasted for 160 years after his death, history’s first empire-builder on a large scale?

ANSWER: SARGON of Akkad

10.
This novel centers around the return of Clym Yeobright to Edgon Heath, a fictional moor in southwestern England, from a successful career in Paris. His wife, Eustacia, longs for the excitement of city life, and carries on an affair with Damon Wildeve. Eventually, she thinks she caused her mother-in-law’s death and drowns. This is the plot of what novel by Thomas Hardy?

ANSWER: THE RETURN OF THE NATIVE
11.
A 7.6 magnitude earthquake struck what Central American country on January 13?

ANSWER: EL SALVADOR
12.
May 4, 1970, was the date of the deaths of four students at what university in Ohio at a large anti-Vietnam War protest?

ANSWER: KENT STATE University

13.
What are the subjects of the prepositional phrases in this sentence? I travelled to the country to see some birds in their natural habitat.

ANSWER: COUNTRY and HABITAT
14.
What name is given to a number that is the sum of its factors?

ANSWER: PERFECT
Third period (continued)

15.
A vector is composed of two parts, a direction and what other property which is the ‘amount’ associated with that vector?

ANSWER: MAGNITUDE
Spares

The British furnished them with rifle cartridges that were coated with grease from cows and pigs, which managed to alienate both the Muslim and Hindu soldiers under British service. On May 10, the revolt began at Meerut, and in the yearlong rebellion that included the siege of Lucknow, both sides committed savage massacres. What is this general rebellion of native soldiers which saw the abolition of the British East India Company and the direct imposition of British rule?

ANSWER: SEPOY MUTINY or REBELLION
THIS IS A COMPUTATION QUESTION. What is the derivative of the function 9x squared plus 1 over x?

ANSWER: 18X MINUS 1 OVER X SQUARED
What German Renaissance painter is best known for the Isenheim Altarpiece?

ANSWER: Matthias GRUNEWALD
What is the name of the title character of The Hunchback of Notre-Dame?

ANSWER: QUASIMODO
What name is given to the obstruction of a blood vessel by undissolved material such as a blood clot, and which are classified as pulmonary, cerebral or coronary?

ANSWER: EMBOLISM
© 2000 by Shawn Pickrell. All rights reserved.

